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1) According to Encyclopedia Britannica, * design is the arrangement of and which make up the plan of a
work of art™:

[Question ID = 6047]

1. Lines and forms

[Option D = 24183]
I_ Lines and rhythm

[Ootion 1D = 2418X)
X Lirees and colour

[Option ID = 24184]
4_ Lmes and pattern

[Opticn iD = 24185]

Correct Answer -
# Lines and forms
[Option il = F4183]

2) Functions performed by consurmers in a market place are:
[Question ID = &048]

1. Borrower, Cooperator, Spender & Saver [Option 1D = 24186)

I Spender, Coordinakor, 1D = J4187)

1. Spender, Bormower, Saver & ihvestor [Option 1D = 24188)

4. Spender, Saver., Waorker & | ator [Option 1D = 24189]

Correct Answer -
® Spender, Bormower, Saver & pvestor [Opeion 1D = 24188)

3) Which of the fallowinglis not an internal environmental factor that affects Human Resowree Ma
[Question ID = 6049]

1. Strategy, task & leadership [Option ID = 24190)

2. Political-legal [Option 1D = 24191]

3. Organizational culture [Option 1D = 3419

4. Urrions [Option 1D = 24193)

Correct Answer -
& Palitical-legal [Option 1D = 24191

d) In context of economic resources, is the non-money income provided to employess in addition te their normal
wages or salaries:

[Question ID = 6050)

1. Fringe benefits [Option 1D = 24154])

1. Property [Option 1D = 241%5)

3. Elastic income [Option 1D = 24194)
4. Money income [Option I = 24197)

Comect Answer -
# Fringe benefits [Option 1D = 24154]

5) Weorld Consumer Rights day is celebrated on:

[Question ID = 6051]
1. ¥1=8arch

[Option iD = 2415
I 15" March

[Option 1D = 247194%)
3. 15 November

[Option iD= 24000

T T

[Option 1D = 24301] www.FirstRanker.com

Correct Answer -
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—_— chart is used for analyzing the mmltmnr_-r. af mﬁfnﬁlnght h.amrw reduction in hand motions:

[ﬂ,uﬁlhun ID = 6052 ]

1. Prooess chart [Option I = 24202)
I. Pattreay chart [Option ID = 240101)
1. Operation chart [Option 1D = 24204
4. Gamtt chart [Option 1D = 24305)

Correct Amswer =-
# Operation chart [Option ID = 24204]

T) Which of the following is not an element of opportunity project interface under environment anakysis?

[Question ID = 6053]

1. Spotting an cpportunity [Option 1D = 24308]
I. Project launching [Option 1D = 24507
3. identification of product. service [Option 1D = 240008)

4. Becords of the company [Option 1D = 240105)

Correct Answer -
& Records of the company [Option 1D = 240075]

8) Anorganizational feature of villages that provides essential commodities to the public at reasonable prices is called:

[Cuestion ID = 6054)
1. Self Help Groups [Option 1D = 24390]
I_ Consumer Undon [Option B = 24211]

3. Departmental Stores [Option 1D = 24372)
4. Co-operatiees [Option D = 24313)

Correct Answer -
# Co-operatives [Option 1D = 23340

9) A sample obtained f
[Question ID = 6055]

1. Multi-stage sampile [Option I = 2432 14]
I. Convenience sample [Option J0 = 24215]

1. Systematic sample [Option B} = 24218)
4. Stratified sample [Option 1D

readily available lists, such as a telephone directory is an example of:

Correct Answer =-
# Convenience sample [Option 1D = 24215)

10} Seasoning of wood is undertaken to:
[Question ID = 6056)

. Decrease its guality [Option 1D = 24318)

. Decrease itz natural colowr [Option 1D = 24319

- Bedisce its shelf life [Option 1D = 24320]

. Beduce its moisture content [Oiption 1D = 34221)

sl P ==

Correct Answer -
# Redisce its moisture content [Opkian 1D = 24221

11} How mamy rights are enshrined under Consumer Protection Act?
[Question ID = 6057)
1. 5 [Opticn ID = 24272]
2. 4 [Option 1D = 24721)
3. & [Option 1D = 24724]
4. 7 [Opticn 1D = 24225]

Correct Answer -
w & [Option 1D = 24724)

12} is a feeling of weariness attributed te physical inability of a muscle te perform aptimally:
[Question ID = 6058]

1. Physiological fatigue [Option 1D = 24038)

2. Boredom fatigue [Option ID = 24327)

3. Frustration fatigue [Option 1D = 24238)

4. Social fatigue [Option 1D = 2423%)
g
* Pysiclogical fatigue [Option ID = 240224] www.FirstRanker.com

13} Which aof the following is not a Consumer Organization?
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4. Woluntary Orgarization in interest of Consumer Education (VONCE) [Option 1D = 24211]

Correct Amswer =-
# indian Standards irstituwtion (150 [Option iD= 24090

14) Which of the following statements is not true for Entrepreneurship?
[Question ID = 6060]

It i an econoemic activity [Option 1D = 24334)

It iz rizk-free [Option D = 24215]
It is a creative response to the environment [Option 1D = 243 34)

1.
r
L
4. Itis a dynamic and purposeful activity [Option 1D = 24217
Correct Answer =-
& [t is risk-free [Option D = 24235)

15) In the context of planning stages under cognitive component, TOTE stands for:

[Question ID = 6061 ]
1. Text. Operation, Text, Example [Option B = 24218]

I Teut, Operate, Tewt, Exit [Option ID = 324075)
3. Test, Operate, Test, Exit [Option iD= 34340)
4. Test, Operational, Test, Example [Option ID = 34241

Correct Answer -
# Test, Operate, Test, Exit [Option 1D s 24740

16) Which af the following is not a consumer problem related to products?

[Question ID = 6062 )
1. Lack of corsumer information [Option D = 24343)

. incomect weights and tion |0 = F4241]

3. Fly by night cperators [Optiog 1D = 243e4)
4. Aggresstve marketing st 42a5)

Correct Answer =-
# Fly by night cperators [Optiog 1D = T43e4)

17} Resources may be nied as:
[Question ID = 6063)

1. Means to achieve goals [Option 1D = 24244)

I. Objectives in life [Option 1D = 24347

1. Tools of energy management [Option 1D = J40340)
4. Energy intensive applianoes [Option 1D = 242449)

Correct Answer =-
# Means to achieve goals [Option 1D = 14244)
model of organizational culture:

18} Artifacts, espoused values and assumptions are a part of

[Cuestion ID = G064

1. Schein's Model [Option iD= 24050)
1. Eiton Mayo Model [Option 1D = 34051)
3. Argyris Model [Option 1D = 2425F)

4. ‘Weber's Model [Option ID = 24051]

Correct Answer -
® Schein's Model [Option 1D s 24250)

19) AGMARK is given by:
[Question ID = 60:465)

1. Minstry of Commerce [Option 1D = 34154

I Directorate of Consumer Affadrs [Option B0 = 24255)

1. Dwectorate of Marketing B Inspection [Option D = 24256)
4. Mintry of Medivm & Small Enterprizes [Option B = 24257

Correct Answer -
® [irectorate of Marketing & Inspection [Option 1D = 24258)

20) can be used to create an illusion of more space:
bt s o 2 i }

1. Book rack [Option 10 = 24258]

¥ Vase [Option ID = 24254] www_FirstRanker.com

AT fOptor i e kad

4. Clock [Option 1D = 24241)
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21) Living rodem, dining room, recreational roam are examples of:
[Question ID = 6067]
1. Brivate zone [Option ID = 24253
2. Social zone [Option 1D « 24241]
1. Service zone [Option 1D = 24364)
4. Political zone [Option 10 = 24045

Correct Answer -
# Social zone [Option 1D = T4363)

22} According to Diesing, decisions are classified as follows:
[Question ID = 60468)

- Technical, economic, social, begal and political [Option 1D = 24bib]
- Technical, soctal, psychological, legal and economic [Option D = 24247
. Technical, political, programmesd, legal and social [Option 1D = 24368]
- Technical, human, political, kegal and economic [Option 1D = 24365]

.h-l.-h-—-

Correct Amswer =-
# Technical, economic, soctal, legal and potitical [Option 1D = 24266]

23) Which of the following is not a feature of a private company?
[Question ID = 6069]

1. It does not dmvite the public to subsoribe to its shares [Option 1D = 24270]

I_ It has mirimum of 2 and maximom of 50 members [Option 1D = 24271)

3. It has a mimimuem paid up capital of Rs. 5 lacs [Option D = 34273)

4. It restricts the right of members to transfer thedr shares [Option 1D = 24273)

Correct Answer ==
& [t has mirimum of I and m
# [t has a mimimuem paid up cagital of Rs. 5 lacs [Option B0 = 142732)

Sk Tel
=TT T

24) abjertives ol hisman resource management mean to be sthically and socially|responsible to the needs
and challenges af the sacipty:
[Question ID = 6070]

. Societal [Option 1D = 24274)

- Personal [Option ID = 34275)

1

I

3. Orgamizational [Option 1D = 24278]
4. Functional [Option i = 24377)

Correct Answer -
% Societal [Option 1D = 24X74)

25) An example of natural light is:
[Question ID = 6071]

1. Fluorescent light [Option I = 24378)

I. Meorelight [Opeion 1D = 24279)

3. Sunlight [Option I = 24280]

4. Candlelight [Option 1D = 24381]

Correct Answer -
& Sunlight [Option i = 24280

26) Elevabors are an example of:

[Question ID = 6072]
. ‘Wertical circulation [Option D = 24282
- Mortzontal circulation [Option 1D = 34387)

- Cross-sectional circulation [Option 1D = 242 84]
- Lomgitudinal circulation [Option 1D = 243E5)

.hl.-h-—-

Correct Amswer =-
& Wertical circulation [Option 1D = 24282

17} An effective display system should fulfill the following eriberia:
[Question ID = 6073]

1. Detection, Aecognition, Understanding [Option 1D = 24286)

I_ Detection, Beconciliation, Understanding [Option ID = 24287)

il

4. Detection, Becognition, Urbamization [Option D = 24289
www.FirstRanker.com
—  Corrpob Arpuugs s

# [Detection, Recognition, Understanding [Option 1D = 24286)
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I #E Supply Forecast [Option 1D = 24291
3. MR Climate Forecast [Option 1D = 24093)
4. HRPF implementation [Option 1D = 24293)

Correct Answer -
# MR Climate Forecast [Option 1D = 24093)

19} curtains are ruffled tiebacks often used in traditional and informal settings:
[Question ID = 6075)

1. Shirred [Option ID = 24204]
I Cafe [Dption ID = 240%5)

3. Sash [Option ID = 24294

4_ Priscilla [Option 1D = 24297]

Correct Answer -
» Priscila [Option 1D = 24297

30) Entrepremeurs wheo are resistant to adopt and use epportunities to make changes in their products and technigues of

production are called:

[Question ID = 6076]

1. Cultural Entrepreneurs [Option 1D = 24798)

I Drome Entrepreneurs [Option 1D = 24299)

1. innovative Entrepreneurs [Option D = 24300]

4. Adoptive Entrepreneurs [Option D = 24301]

Comect Answer -
®  Drome Entreprencurs [Option 1D = 24299

31) The 4 P's of marketing are:

[Question ID = 6077)

1. Product, Price, Place, Promotjion [Option 1D = 24303 )
I. Product, Performance, Public| Belations, Promotion [Option 1D = 3430¥]

1. Performance, Process, Place. | Promotion [Option 1D = 24304)
4. Product, Price. Process, tion [Option ID = 34.075)

Correct Answer -
% Product, Price, Place, Promation [Option 1D = 24302]

32) CWEI stands for

[Question ID = 6078]

1. Committee for Women Entreprenewrs of India [Option iD = 24304]
I_ Consortium of Waomen Entreprenswrs of indla [Option 1D = 24300
1. Center for Women Entreprenewrs of india [Option 1D = 24 308]
4. Corporation of Women Entrepreneurs of India [Option 1D = 24309)

Correct Answer --
# Cpnsortium of Women Entreprenswrs of india [Option I = 24307)

33) Ethical walues that concern the philosaphy of an individual are called:

[Question ID = 607T9)

1. Factial values [Option I = 24310]
I Term values [(ption 1D = 34311)
3. Chain values [Option 1D = 2431Z)

4. Hormative values [Option i = 241113]

Comect Answer -
& Hormative values [Option 1D = 24313)

34) What measurement scale will be used if an instructer classifies guestions in an exam as easy, difficult or imgossible?

[Question ID = 6080)

- Mominal [Option & = 24314]
- Ortinal [Option ID = 24115)
- Interval [Option iD= 24318]
- Ratio [Option 1D = 24317

.h-l.-h-—-

Correct Arswer

35) Guilford's model of intellect is based on thivnaLMirstiRanker.com

—Ooeson 10 = 50ET]
jon b = 24318

1. rations, Content, Products
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Comrect Answer
#» Operations, Content, Products [Option 1D = 24318]
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36) Barcode on a label is used to:
[Question ID = 6082]

1. improve the appearance of the labed [Option 1D = 24322]

I. Provide the directions of use for a product [Option 1D = 2430°7)
1. Detect the shelf life of the product [Option 1D = 24124)
4.

Urigquely identify ttems [Option 1D = 2432%)

Comrect Amswer -
® Urmiguely identify items [Option 1D = 24325)

37) “anthropometry® is derived from the Greek words anthropoes meaning man and mefron meaning

[Question ID = 5083]
1.

[Opticn 1D = 24124]
1. Body

[Option Ib = 24337]
X Arems

[Option ID = 2437%)

4. Ratio

[Ootion 1D = 24329
Correct Answer --
& Meazure

[Option 1D = 24124]

3B) KVIC stands for -
[Question ID = 6084]

1.
I. Ehadi Venture industrial ComeEsoe [OpET 10 = ZA33T]

1. Ehadi and Village international Corporation [Option 10 = 24311}
4. Khadi and Village Industries Comenission [Option 1D = 24133])

Comrect Amswer -
# Ehadi and Village industries Comemission [Option iD= 24331)

39) Creation of demand, foothoeld in the market, building goodwill and profitable sales with customer satisfaction are
objectives of !

[Question ID = 6085]

1. Selling Management [Option ID = 24134)

I. marketing Management [Option D = 24115]

1. Inventory Analysis [Option 1D = F4316)

4. Moed Analysis [Option 1D = 24117)

Comect Answer -
® Marketing Management [Option 1D = 24115]

40) In context of entreprensurial training institutions, EDN stands for
[Question ID = 6086

1. Extemsion Development institute of india [Option ID = 24318)

I_ Entrepreneur Development instibute of india [Option 1D = 24339

3. Entreprencurship Department Institution of india [Option 1D = 24340)

4. Entreprenewrsiip Development imstitute of india [Option 1D = 24341]

Correct Answer -
# Entreprencursiip Development irstitute of india [Option 1D = 24341]

41) Who among the following has defined an entrepreneur as “the one wiho i involved in gathering and using resources
and apportunities to produce results™?

[Question ID = 6087]

| ip—rpr— e —————
I. Joseph Schumpeter [Option ID :lﬂﬂ]

1. Beter Drucker [Option 1D = 241.44) www_FirstRanker.com
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42} Which of the following characteristics mmmﬁmlﬁmmmuw WWW. Fimlﬂanknr.cum

. He setg up mis own ventura

ii. He & an employee of the business arganization
fiii. He is motivabed h-j' rewards or incentives

iv. He takes reckless risks

Coies!

[Question ID = 6088]

1.4, 0

[Option 1D = 24144]

E i, i

[Cotion 1D = 24147
LI |

[Ootion 1D = 2434

4. i, v
[Option iD= Z434%]

Correct Answer -

& 1, 1

[Option ID = 24147]

43) Consumers may be classified based on the hollowing oriteria:

i. Age
fi. Gender

fii. Socio-cultural status

iv. Political status

Conghissg:

[Question ID = 6089]

1. 1,4,

[Option 1D = 24150]

P i, i,

[Option ib = 34351]
i, i, v

[Option ID = 24153]
4. 1, i, tw

[Opticn 1D = 24151]

Correct Answer -
& 1, M, i

[Opticn 1D = 24150]

44} Tools and technigues of a control system are:
. Financial statements

fi. Program Evacuation Revisit Technigue

fili. Budgetary control

iv. Organizing

Conihiss.:

[Question ID = 5090]

1.1, 4

“TOETIET I = IR
I i, i

www.FirstRanker.com
!ﬁnrm.n i s :l.i.'l.‘.‘.]

B od, i
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Correct Answer -
& i,

[Opticn 1D = 24154]

www.FirstRanker.com www.FirstRanker.com

45) Wallpapers as a wall finish have the following advantages:
i. Useful in covering imperfect surfaces

fi. Can only be applied by trained professionals

fili. Wide variety of designs are available

iv. Useful in emphasizing unattractive architectwral features
Candes:

[muestlm ID = 6091]

1, ™

[Option ID = 24154]

E. A, i

[Option 1D = 24155]

i, wi

[Option 1D = 24380

4. m, v

[Opticn iD = 243&1]

Correct Answer -
- i,

[Option 1D = 24155]

46) Which of the following hold true for goals?

i. They could be short terrh or long term

ii. They are more easily deTined than values

fii. They can change over a period of Lime

iv. They can be achieved without using any resources
Ciondlas!

[Question ID = 6092)

1. 4, i, iy

[Option il = F4343]
P A, i, i

[Ootion 1D = 24141
X, L,

[Option ID = 24344]
4. 1,0, tw

[Ootion 1D = 24145
Correct Answer -
& 1, M, i

[Option 1D = 24181

47) According to Stevenson's classification of income, hidden income consists of:
i. Community Incame

fii. Househald production

iii. Employment benefits

. Consumers savings

Coslas !
www.FirstRanker.com

[Question ID = 6093]
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[Ootion 1D = 241&4T)
Y., i, i

[Option iD= 24148

4. 1, i, iy

[Option 1D = 2408%)

www.FirstRanker.com www.FirstRanker.com

Correct Answer -

& 1, i, Ty

[Option 1D = 2408%)

48} What is true for debentures of a company?

i. Debentures are safer compared to shares

ii. Debenture s a certificate of indebtness issued by a company

fii. In case of liquidation of company, debenture holders are paid after asset distribution
iv. Debentures only carry variable rate of interest

Cipls!

[Question ID = 6094]

1. 4, i

[Option 1D = 24170]

o, 6

[Option b = 24371]
Xoi, 0w

[Option ID = 24172]

4. m, m

[Option ID = 24171]

Correct Answer -

& i i

[Option 1D = 24171]

49} Personal barriers that inhibit the growth of entrepreneurship include:
i. Economic

fi. Motivational

ili. Perceptual

fv. Political

Canchess:

[Question ID = 6095]

1. 1,.m

|Cotion 1D = 24174
r. i, i

[Opticn iD = 24175]

X i, i

[Option ID = 24176]
4. i, v

[Opticn iD = 24177]

Correct Answer -

L

[Opticn iD = 24175]

50) Featwres of a Row house are :

i. It has less privacy as compared to a detached house

fi. It s built on a smaller sized plot as compared¥WMEiratRanker.com

fili. It has open areas in the front and back
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[Question ID = 6096]

1. 1, i, 1w

[Ootion 1D = 2417E)
P, i, i

[Opticn iD = 24174]

X i, L,

[Option 1D = 24380

4. 1, i,

[Opticn 1D = 24181]

Correct Answer -

& i, 1, i

[Opticn iD = 24174]

51) Metanil yellow is used as an adulterant in which of the following food items?
i. Arhar dal

iil. Butter

iii. Jaggery

iv. Milk

Codes:

[Question ID = 6097]

1. i, v

[Option b = 34383]
E. A, i

[Option 1D = 24141

i, wi

[Option ID = 24184]
4. M, v

[Option 1D = 24185]

Correct Answer --
& i,

[Option 1D = 24141

52) The units of measurement on a metric scale are:
i. Feat

fi. Millimetre

. Metre

iv. Inches

Coshes !

[Question ID = 6098]

1.4, il

[Opticn iD = 24184]

i, i

[Ootion ID = 24187
X, v

[Option iD= 248K

4. M, v
[Option ID = 24189]

Correct Answer --

& 1, m

[Option ID = 241&7] www.FirstRanker.com
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ifi. Comfart Safety
O :

[Question ID = 6099]

1. 4, 0, i

[Option 1D = 24190]

A, i, i

[Cotion 1D = 24191)
Y., i, i

[Opticn iD = 24153]

4_ 1,1, w

[Option ID = 24191]

Correct Answer -

54} Following are some of the features of Management:
i It i purposeless

fi. It is intangible

iii. It is a dynamic discipline

iv. It involves synergy among different resources

Codlas!

[Question ID = 6100]

1. 4, i, iy

[Ootion 1D = 24154
2. i, i, i

[Option b = 342%5]
X, L,

[Option 1D = 2419]

4. 1,4, tw

[Option 1D = 24157]

Correct Answer -

- 0, n, W

[Opticn 1D = 24154]

55) Women entrepreneurs face the following problems:
i. Family conflicts

fi. Male-dominated society

iii. Supportive bankers

iv. Lack of information about financial facilities

Codes:

[Question ID = 6101]

1. 4, i

[Option ID = 24158]

., i, tw

[Option ID = 24199]

N i, i, v

[Option ID = 24400]

4. i, fil, iw

Correct Answer I www.FirstRanker.com
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fi. It is & prereqguisite to innovation
fii. ldeas evolve through creative process

fv. Itis a 12 stage process
Condles:

[Question ID = 6102]

1. 1,4,

[Ootion 1D = 24407
., i, tw

[Opticn iD = 2440]

N i, dil, b

[Option ID = 24404]
4. 1, i, v

[Opticn iD = 24405]

Correct Answer -

- i, M, i

[Opticn iD = 24400]

57) Features of a typical work curve are:
i. It is a saddle-backed curse
fi. It starts shuggishly follo

fili. It declines in the middle of the spell
fv. It rises again during

Codes:

end of the activity

[Question ID = 6103]

1. 1, 0, tw

[Option 0 = Fd406]
oA, i, i

[Option ID = 24407]

i, i, e

[Option ID = 24408]

a4 1, i, il
[Otion 1D = 2440%)

Correct Answer --
& 1, M, i

[Option 1D = 24409

58} Which of the following statements hald true for complementary color scheme?
ii. It is also known as contrasting color scheme

il Equal amounts of two complementary colors produce a newtral color

ili. Monochromatic is a type of complementary color scheme

iv. It comprises of only cool colors

Cinchas!

[Question ID = 6104]

1.4, il

[Option iD= 24400

i, 0

nﬁ.ﬂm creativity?

[Option 1D = 24411]
3. i, fii www.FirstRanker.com

[Dption 10 = 4212
4. 1, v
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[Ootion 1D = 24411]

59) Which of the following are features of a formal organization?

i. It fedlows an official chain of command

fii. It is created to achieve predetermined objectives

fii. It is based on human sentiments

iv. It refers to personal relationships develaped between employess
Cinchas!

[Question ID = 6105]

1.4, 0

[Option iD = 24414

P i, i

[Ootion 1D = 24415)
X i, i

[Option iD= 24414
4. i, v

[Option 1D = 24417
Correct Answer -
& in

[Option 1D = 24474)

60) Three types of Lmsut::pnnslmltles are:
i. Respansibilities towards f
ii. Responsibilities towards| environment

fili. Responsibilities towards-retaHers

iv. Responsibilities about rights
Canlps:

[Question ID = 6106]

1. 4, i, iy

[Option 1D = 24418)

2., ti, e

[Option 1D = 24419
i, 0, fw

[Option 1D = 24420]

4 1,4,

[Option ID = 24421]

Correct Answer -
& i, M, tw

[Option ID = 24420]

61} Which of the following halds true for a feedback control system?
i. It measures the sutput of a process

il It resolves a problem before its occurrence

fii. It has a time lag in the process of correction

iv. It monitors inputs into a process to determine potential problems
Canchess:

[Question ID = 6107] www.FirstRanker.com

1. m, 1

[Option ID = 24427]
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[Option ID = 24424]
a4 1, v

[Opticn iD = 2405]

www.FirstRanker.com www.FirstRanker.com

Correct Answer -
& i,

[Opticn iD = 24424]

62) Which of the following statements are correct with respect bo a Miter Joint?

i. It is generally used in photo frames

fi. It is the strongest of all wooden joints

fii. It is made by cutting two parts at a 120-degree angle

iv. Hails, screws, balts and glue can be used to hold the sections Dogether at points of strain
Ciondlas!

[Question ID = 6108]

1. 1, i
[Option ID = 24424]

i, 0

[Option 1D = 24427]

i, wi

[Opticn 1D = 2440%]

4.1, v

[Option 1D = 24429]

Correct Answer --

-,

[Option ID = 24429]

63) Budgeting has the following limitations:

i. It cannot make an inadequate income adeguate

fi. It cannot change the intention of an individual to choose produects carefully
fii. It is an effortbess process

v, It needs no adjustment with changing needs and situations

Cinchas!

[Question ID = 6109]

1. 4, i

[Ootion 1D = 24430

i, 0

[Ootion 1D = 24417)
X i, i

[Opticn iD = 24413]

4_ 1, w

[Option 1D = 24477F)
Correct Answer -
& 1, M

[Option ID = 24471]

G4]) Choose the correct kitchen layouts among the follawing:
i. Triple Line

LA shaped

fill. Simgle 1§
ngle fine www.FirstRanker.com

T A-smaped
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1. 4, i

[Option ID = 24434]

i, i

[Cotion 1D = 24415
Y. il i

[Opticn iD = 24414]

4_ 1, w

[Option 1D = 24417]

Correct Answer -
& m, m

[Option ID = 24415]

65) Which af the following hold true for Sole Proprietorship?
i. Simgle ownership

fi. Unlimited Hability

. Unegual prafit sharing

iv. Conflicts betwean partners

Codlas!

[Question ID = 6111]

1. 4, i

www.FirstRanker.com

[Option 1D = 2447
E. i, i

[Option b = T447%]
X il i

[Option 1D = 244a0)

4_ 1,1

[Option ID = 24441]
Correct Answer -
LI AT

[Option ID = 24441]

66) Examples of cognitive resources are:
i. Intelligence

ii. Knowledge

filfi. Imbuition

fv. Motivation

Codes:

[Question ID = §112]

1.1, 4

[Cotion 1D = 24447)
P T |

[Option ID = 24441]

i, wi

[Option 1D = 244
4. 1, iv

[Opticn iD = 24445]

Correct Answer -
& 1,1

“TCRtion 10 = J432T]
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fii. External privacy can be obtained by screen Wi FifsiRankes.00mqation  www.FirstRanker.com

iv. Societal privacy can be abtained by avoiding interaction with guests

Coshes !

[Question ID = 6113]

1. 4, i

[Ootion 1D = 2444

i, 0

[Option ID = 24447
X i, i

[Option iD= D444

4_ 1, w

[Ootion 1D = 244

Correct Answer -
& M, m

[Ootion 1D = 244u)

68) ‘During event activities' stage of event management includes:
i. Administration and planning of the event
fi. Dperationfexecution of the event

ili. Moniboring and coordination of activities

fv. Rizk management

Codlas!

[Question ID = 6114]

1.4, i, v
[Option 1D = 24450)

2. i, 0, v

[Option b = 24451]
X i, L,

[Option ID = 24452]

4 1,4,

[Opticn ID = 24451]

Correct Answer -

& i, fil,

[Opticn ID = 24453]

&%) Which of the following services are shawn in the service plan of a building?
i. Electric wiring

ii. Water pipelines

fii. Furnfiture arrangement

iv. Telephone lines

Conghissg:

[Question ID = §115]

1. 1, i, v

[Cotion 1D = 24454
., i, tw

[Option ID = 24455]

N i, i, i

| e e g

4. i, fil, iw

[Cotion D = J4457)

www.FirstRanker.com
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70} Which af the following statements hold true for characteristics of resources?

. All resources are wseful

fi. &ll resources are accessible in varying quantities and gualities

fiii. All resowrces are unlimited

iv. Ressurces have pﬂ‘i.iﬂb-l-l!' alternale uses

Conhes

[Question ID = §116]

1. 4, i, iy

[Option ID = 24458

i, 0, v

[Option 1D = 2445%)

X, L,

[Option ID = 24480

4. 1, 0, i

[Option 1D = 24481
Correct Answer -
& i, M, w

[Option 1D = 2445%)

J1) Salient features of a s
i. Character/expressiven
fii. Texture

. Size

iv. Fragility

Coies!

[Question ID = 6117]

1. 4, i, iy

[Option ID = 24482]

2 i, M,

[Cotion 1D = T448T)
X, L,

[Ootion 1D = 24484

4_ 1,1, w

[Option ID = 24485]

Correct Answer -

& i, i, i

[Option ID = 24481

72} Advertisements are used for the following purposes:
i. Infarmatian

fi. Fiction

fili. Persuasion

iv. Affection

Codlas!

[Question ID = &118]

17
[Option 1D = J4488) www.FirstRanker.com

2 4 idi

[Option ID = 34487T]
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Correct Answer -
& 1,

[Ootion 1D = 24447

www.FirstRanker.com www.FirstRanker.com

T3) Which af the following are the stages of a family lifecyele?
i. Expanding stage
ii. Contracting stage

iii. Beginning stage
iv. Develaping stage
Condlas:

[Question ID = 6119]

1. 4, i, iy

[Ootion 1D = 24470
2. i, 0, v

[Option b = 24471]

X i, L,

[Option 1D = 24472]

i, i, i

F-
O

[Opticn ID = 24471]

Correct Answer -

& i, M, i

[Opticn ID = 24471]

T4) Given below are two ftatements, one is labelled as Assertion A and the other is labelled as

Assertion A Color affects an individual’s mood or feelings.
Reason R: Human body responds to color psychologically.
In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = §120]

1. (&b is cosrect but (R} is incorrect

[Cotion 1D = 24474
. |&h s incomect bt (B) is correct

[Ootion 1D = 24475
. Both {&) and (R} are incorrect

[Cotion 1D = 24474
. Bath (A) and (R} are comect

P

(=

[Option 1D = 24477]

Correct Answer -
& Both (A} and (R} are comexct

[Option 1D = 24477]
75) Given below are two statements, one is labelled as Assertion A and the ather is labelled as Reason R

Assertion & @ Liguidity is the ability te convert the securities into cash without sacrificing value.
Reason K : The more liguid an investment is, higher is its return to the investor.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = 6121]
R L1 [ BT R PR S

[Ootion 1D = 2447E)
T www.FirstRanker.com

[Option 1D = 24475
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Correct Answer -
& &) is correct, Bt (R] & incorrect

[Option 1D = 2447

Th) Given below ane two statements, one s labelled as Assertion A and the other is labelled as Reasan B

Assertion A 1 COPRA aims to provide protection against animal eruelty.
Reason R : COPRA applies to selective goods and services anly.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 6122]

1. (&b is correct, but (R & incorrect

[Ootion ID = 24487
. |&) s incormect, but (B} ts correct

[Option ib = F4481]
. Baoth (A} and (R} are incorrect

[Ootion 1D = 24484
. Baoth (A) and (R} are commect

[Opticn ID = 24485]

e

L

Fl

Correct Answer -
& Both {A) and (R} are incorrect

[Opticn ID = 24484]

T7) Given below are two $tatements, one is labelled as Assertion A and the other is labelled as Repson R

Assertion A @ In a free ecohomy, consumers can purchase or refuse goods and services available in|the market.
Reason B 2 bn a free ec ¥, consumers are free ta make chaices,

In light of the above statements, choose e COMECL answer ITom Lhe opLions given Delow

[Question ID = §123]

1. (&b is correct, but (A & incorrect

[Option |0 = Fddia]
2. (A)is incorrect, but (R} is correct

[Ootion 1D = 24487
3. Both |A) and (R} are incorrect

[Opticn ID = 2448]

4. Both (&) and §R} are cormect
[Ootion 1D = 24489

Correct Answer --
& Both (A} and (R} are commexct

[Option ID = 24485]

TB) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A Manulacturers design products which become either materialistically or functionally obsolete over a period of
Lime,
Reason B @ Manufacturers cater to the population with low paying capacity.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 6124]

1. (&) is coevect, but (R & incorrect

[Option 1D = 24450)
I lbiis incorect but AL i comect

[Option ID = 24491]

Y. Both (A} and (R} are incormect www.FirstRanker.com

[Option 1D = 24452]
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Em-l-l:r. AMSWeT -
& A} is corvect, but (R & incorrect

[Ootion 1D = 24450
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79) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason B

Assertion A @ The essential elements of entreprensurial competencies are knowledge, skills, motives and traits.
Feason K @ A compebtency is an entrepreneurial characteristic that results in ineffective performance of a job.

In light of the abose statements, choose the correct answer from the options given bebow

[Question ID = §125]

1. (&) is coevect, but (R & incorrect

[Option iD= Fdd5a]
2. (Ab is incormect, but (B} is correct

[Ootion 1D = 24455)
3. Both (A} and iR} are incorrect

[Option iD= Fda5a]
4. Both (&) and §R} are cormect

[Option ID = 24457]

Correct Answer -
& [A)is correct, but (R & incorrect

[Option ID = 24454]

80) Given below are two ptebermertsormetrtabeted-ss e tior st otiner-fs-tabebed-aefepson |

Assertion A Advertisemenls sometimes exaggerate the size of the product.
Reason R @ Advertisementy over portray the product visuals to make them look bigger than the actpal size.

I light of the above statednents, choote the correct answer from the aptions given below

[Question ID = 6126]

1. (&) is correct, but (A & incorrect

[Option 1D = 2445)
2. (Al 15 incorrect, but (R} is correct

[Option ID = 24459
. Baoth (A} and (R} are incorrect

[Ootion 1D = 24500
. Both (&) and (R} are comrect

L

F-

[Opticn 1D = 24501]

Correct Answer -
& Both (A} and (R} are commexct

[Opticn 1D = 24501]

81) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason B

Assertion A @ Planning is the first and foremost function of management.
Reason K : Planning invalves creating a road map for future course of action.

In light of the above statements, choose the correct answer from the options given below

[Question ID = §127]

1. (&b is coevect, But (A & incorrect

[Option b = 34500]
T_ (A} is incorrect, but (R} is correct

[Option 1D = 2450%)
3. Both |A) and (R} are incorrect

| e

4. Both (&) and §R} are cormect

www.FirstRanker.com
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82) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Receiving orders from one superior 5 better than receiving orders from several superiors,
Reason R @ Receiving orders from several superiors causes confusion and chaos.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = &128]

1. (AN is correct, But (/) & incorrect [Option 1D = 245068)

I. |Abis incormect, but (R) 5 correct [Option 1D = 24507)

1. Both {A) and (R} are incorrect [Option 1D = 24508)

4. Both (A} and (R} are comrect [Option 1D = 34509

Correct Answer -

® BEoth j&) and () are comrect [Option 1D = 34505)

83) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A @ Ratio-trend analysis is the slowest forecasting technigue.

Reason R @ It invelves studying past raties and forecasting future ratios.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = §129]

1. (A} is coerect but (R} ts incorrect

[Option b = 24510]
2. (A)is incomect but (B) 15 correct

[Ootion 1D = 24511)
3. Bogth (&) and R} are inconmec

[Option b = 34512]
4. Both (&) and §R} are cormect

[Option ID = 24511]

Correct Answer --
& [A) iz incomect bot (B) is correct

[Option D = 24511]
84) Given below are two statements, one s labelled as Assertion A and the other is labelled as Reason R

Assertion A @ Body Mechanics is defined as a science dealing with body farces and motions.
Reason R : Bady mechanics invalves scientific study of human thoughts.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = §130]

1. (&) is coevect, but (R & incorrect

[Ootion 1D = 24514
- [A) is incorrect, but (B} s correct

[Ootion 1D = 24515)
. Baoth (A} and (R} @re incorrect

[Ootion 1D = 24514&)
. Both (&) and (R} are comrect

[Option ID = 24517]

[

L

F-

Correct Answer -
& [A)is corvect, But (R] & incorrect

[Option ID = 24514]

85) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason B



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

“FirstRanker.com

»
‘!‘mﬁﬂmﬂ'ker ¢ choice www.FirstRanker.com www.FirstRanker.com

2 &b is incorrect, but (B) is correct

[Option 1D = 24519]

3. Both (&) and R} are incorrect

[Option 1D = 24520]

4_ Both (A} and jR) are correct

[Ootion 1D = 24521)
Correct Answer -
& Both (&) and () are comrect
[Ootion 1D = 24521)

B6) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason B

Assertion A @ The challenge of making a room appear larger requires careful selection and arrangement of furniture.
Reason R @ Selection and arrangement of furniture should be based only on aesthetics.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = §132]

1. (&) is cowrect but |R) is incorrect

|Cotion 1D = 24527)
E_ (A) 15 incomect but (B) 15 correct

[Ootion 1D = 2452%)
3. Bgth (A} and R} are incormect

[Ootion 1D = 24534
4. Both (&) and §R} are cormect

[Opticn iD = 24525]

Correct Answer -
& &) 15 coerect but (B} 15 incorect
[Option il = 34533]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A @ Havel acts as the center of gravity in a human body.
Reason R : For complete stability, the line of gravity should pass through the arms.

In light of the above statements, choose the correct answer from the aptions given below

[Question ID = §133]

1. (&) is coevect, but (R & incorrect

[Option il = F4506]
2. (A)is incorrect, but (R} s correct

[Ootion 1D = 24537
1. Both (A} and iR} are incorrect

[Option b = 34508]
4. Both (&) and §R} are cormect

[Ootion 1D = 24529
Correct Answer -
& &) is correct, Bt () & incorrect

[Option ID = 24526]

88) Given below are bwo statements, one is labelled as Assertion A and the other is labelled as Reasan R

Assertion A : Fake ceilings provide space for housing electric wires and air-conditioning ducts.
Reasan B @ False ceilings are used for decorative purposes anly.

I light of the above statements, choote the correct answer from the aptions given below

[Question ID = 6134]

1. (&) is correct, but (A & incorrect

www.FirstRanker.com

[Option ID = 2450]
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[Ootion 1D = 2451F)
4. Both (&) and §R} are cormect
[Option ib = 34531]
Correct Answer -
& [A)is coevect, but (R & incorrect
[Option il = 34534]
89) Match the items in List | with itemns in List I
Liisz I List Il
4. Repetition and gradation - Balance
b. Radial and formal ri. Rhythm
{. Emphatic and dominant jiii. Emphasis
q. Golden rectangle iw. Proportion
Codes:
[Question ID = 6135]
1. & biw c i did
[Option Ib = 345%4]
I omi bi il o v
[Ootion 1D = 24535)
X aii bi Civ did
[Option b = 34506]
4. xin b i ci ol v
[Ootion 1D = 24517)
Correct Answer -
& il b i ol v
[Ootion 1D = 24535)
90) Mabch the items in List | with itesmns in List 112
List List I
3. Cement - FPD
ly. Gold crnaments ri. Hallmark
. Ghee fi. 151
ll:r- Jam . Agmark

Codes:

[Question ID = 6136]

1. & biw c i
[Ootion 1D = 24518)

X oai b e ci
|Cotion 1D = 24519

1 ain bi Civ
[Ootion 1D = 24540

4. aii b i Ciw

[Option ID = 24541]

Correct Answer -

& 31n bm [

dm

[Option ID = 24541]

91) Match the items in List | with items in List 11

List |
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. Prevention of Food
Act

|:r. Fruit Product Order (FPO) rw 1955

e

[Question ID = 6137

1. & biw c i did
[Option ib = F45a0]

X oai b e ci d i
[Ootion 1D = 2454T)

X aii bi Cii o v
[Option iD= FaSaa]

4. xin b i C v d i
[Ootion 1D = 24545)

Correct Answer -

- xin b ci ol v

[Option ID = 24544]

92) Match items in List

| with ftesna in List 11

List |

List 1l

Er. Scalar Chain

i Receiving orders from one superior

IL Unity of command

F. Giving due payment for one's servioes

4. Femuneration

Fi- Long term commitment of employees

T Stability of tenure

w. Flow of communication from top to
ttom

Codes:

[Question ID = &138]
1.

E L b1 cm

[Option ID = 24544]

I oaii b i Ciw

[Option Ib = F4547]
1 omin bi Civ

[Option ID = 24548]

4. 31w B om

[Opticn 1D = 24549]

Correct Answer -
LI ki cii

d i

dim

dim

[Opticn 1D = 24549]

93) Match the items in

List | with ftems in List I

anker.com

List | List Il
4. Long term recards i Current account
H. Mechanical check Fi Sheet method, notebook method
4. Short term records |i1 Food purse, coin box, envelopes
:r. Bank Fv.lt-l-rlu of permanent nature such as property
Codes:
(- WS- ST T Y
1. &1 b c :II dmn
tion 10« 245501 www.FirstRanker.com

I omiw b i cii
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[Option ID = 24551

Correct Answer --

3y B m cm di

[Option 1D = 24551]

94) Match items in List | with items in List I

List | List 1l
ar. lob analysis i. BARS
b. Job description il. Collection of job related information
4. Performance appraisal iil. Includes educational qualification,
work experience
:f. Jab specification iv. Information about job title, location

Codlas!

[Question ID = 6140)

1. & biw il did
[Ootion 1D = 24554

I oaii b ¥ ci din
[Option b = 34555]

1 ain bi Civ din

[Option 1D = 24554]

4. ain bm i o w

[Option ID = 24557]

Correct Answer -
- il b ci d i

[Opticn ID = 24555]

95) Match the items in List | with items in List I

List1 List Il
4. Values i Qualitative and guantitative
H. Standards Fi':.an:l that mowves people and causes|
m to act
d. Ethics in Management |ii_|nuiru'c and extrinsic
:r. Motivation Fv Primary & middle guides

Codes:

[Question ID = &141]

1. aiv ki c i did
[Option b = 24558]

I omii b i Ciw d i
[Ootion 1D = 24559

X oain b Civ dn
[Cotion 1D = 24540

4. xiv b cii d i

[Option ID = 24541]

Correct Answer --
& xin i Civ did

[Option 1D = 24540]

96) Match the items in List | with items in List 11 m_Fim'ﬂanhhcnm

List | Li=t 1l
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1. Mezzanine iw. Habitable room on the roof of a building

Codes:

[Question ID = 6142]

1. & biw c i did
[Option ib = 34543]

X oai b i o v
[Ootion 1D = 24541

X oaii b Civ din
[Option iD= Fa5a]

4. xin b i ci d v
[Ootion 1D = 245£45)

Correct Answer -

- &l b v d i
[Ootion 1D = 24584

97) Match the items in List | with items in List I

List List I
ir. Rest pericds i Seymour

H. Development of skill F List of jobs

4. Peak load Iii- Lying down

:f. Time plan Ii--)am packed periods
Codes:

[Question ID = 6143]

1. &iw b il did
[Ootion 1D = 24584

I oaii b i 4 d i
[Option b = 24547]

1 ain bi Cii d v
[Ootion 1D = 24548

4. aii b Civ did
[Ootion 1D = 24549

Correct Answer -

- i b Civ did
[Option b = F4545]

9B} Match the items in List | with the items in List I

List I List 1
r- Lobby . Fireplace
b. Tread fi Passage
. Mantel jii. Railing
ri- Parapet iv. Staircaze

Codes:

[Question ID = &144]

1 = B i Foli 11} f= R L]
s I = 245700
1. _!L i . b i : ci d www.FirstRanker.com

[Option ID = 24571]
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[Dpticn 1D = 24571
Correct Answer -
LI b i d

[Dpticn 1D = 24571)
99} Match the items in List | with items in List 1

List1 List 11

4. Physiclogical needs i Stability of tenure

. i. Realizing one’s potential for continued
B. Safety and security needs

development
4. Social needs Fi- Lowe, affection and friendship
-:r. Self-actualization Ii-nml and clothing

Codes:

[Question ID = 6145]

1. aw b1 [ ] d 11

[Option 1D = 24574]

I oaii b i Ciw di
[Option il = 34575]

5 oain bi Ciw d i
[Cotion 1D = 24574

4. aiv b cid ol i

[Opticn ID = 24577]

Correct Answer -
& aiv b C i d it

[Opticn iD = 24574]

100) Match the items in List | with items in List 1z

List I List IT
Work space for assemibding items needed for food
II.EHtEer:rll' - "
eparation
b. Range
L. Counte 1
r space for cooking
. Work
L b cantre ork and storage space for items used in serving and
ng Tood
China
| w. Counter space for washing vegetables and utensils
Codes:

[Question ID = §146]

1. & b il d i
[Option b = 3457E]

I omiw b ci d tii
[Ootion 1D = 24579

X oain b Ciw d i
[Cotion 1D = 24580

4. ain b it ci diw

[Option 1D = 24581]

Correct Answer --
L L bBn 1 l 1l
[Dption ID = 24574
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